BE#H 2023/10/20

REX

INATIY
N80A]]I(N80A]]IGX)
ﬁB m il B

20084 11H
ZOOZE 98 HEIE

[ KEEICER AL LWV REIEWET, SR HGHREZ LS }

DEBEKRRIZEYEFEAFREMLHYET , THT T RIS,
TEEHOIHEDRIT. BFYOREXEEEMABELEHhETELY,

NBOA N8OAIIGX
[274015] [274026]

EPr

Fah 58

Fah

#HELS- T4
Hus 1) —<EB
E—4EBEH

N & W ko =




BHErH 2023/10/20

N8OA -NS8OATI GX
1. TEHEER




N8OA-N8SOAII GX BE#HHE 2023/10/20
1. TEEE
RE(HBRES AR WE| BLEE HmE
1 FOO1 |[FEh& 1 - HEGRT
2 FO02 |¥AHh/\— 1 - HisRT
3 W082 |/<A7UTERILE (M8 x 20) 2 150
4 F003 |E—%#H/\— 1 - HIART
5 | WO6A |/NAIUTERILE (M6 x 14) 4 150
6 FO17 |/E#R 1 2,550
7 W251 |[7E~/hal (M5 % 8) 6 150
8 4905 |EEHARIL 2 16,640
9 | WL4l |RTYIHTEY (4% 10) 4 150
10 | F009 |RSAKNJLY 1 2,080
11 F022 |R—RH/\— 1 570
12 | WW16 |CHZ1EOER (EWFH16) 1 150
13 CHs B Ik & i (16) 1 150
14 | NO039 |AAILF¥yT (FL—) 2 150 N8OA (1) FA
14 | F034 |AAILF¥vT (£) 2 150 NSOAII GXFH
15 | W684 |NAIUIEIEHRL (EMYEMEx14) [ 4 150 Ay gtE
16 | WA42 |54 (R1) 1 570
17 | 4047 |RRL—F 1 1,050
18 A —FH—AL1007R L100mm7r 1 360
19 AyE L (5% 10) 1 150
20 | TO056 |45WKiEF 1 700
21 | 7450 |[R—R/N\K (10mm) 2 210
22 FO18 |A O LEZE 1 2,780
23 | N029 |2 9 EERFYvT 1 700
24 | FO16 |UI#p=2 1 4,860
25 7021 |a—KJ 1 590
26 | 7098 |[C-15H KL 1 150
27 | W242 [HGR/NpRLE (M4 x10) 2 150
28 | FO15 [HAKH/N— (JL—) 1 3,820 NSOA (1) FA
28 | FO15G [ AKH/N\— (2) 1 | NsoAmGoxm| AR T
29 | zJ23 |FA40 9507 (NK—6N) 1 150
30 | NO54 |FvvuT (JL—) 1 150 N8OA (1) FA
30 | F027 [FvvuT (£) 1 150 NSOAII GXFH
31 F028 |[R—LTL—Fk 1 —
32 | w241 [HZ~R/pRl (M4 x 8) 4 150
33 F153 |F¥ T34 va—k—= 1= 6,930 N8OA (II) FH
33 | OFCTIS |F+ T #A/Ya—F—= 13 | nsoAamexm| KT
34 | 4081 |7—REFTF7HTH 1 1,050
39 [ NO0O8 [RAYF 1 5,550 GXFA—FR4yFIFEFEIRT
40 | W4A4 |FLIM/hAL (M4 x12) 2 150
41 NO41 |RAYF/\vFxy 1 410




NSOA-NS8OAII GX
2. X EHER

BHErH 2023/10/20

i ——




NSOA-NSOAIIGX BHEHHE 2023/10/20

2. FEAER
HE(HBmES A WE | 1ZXEE W E
1 02F1 |FEh—= 15 62,370
2 FO80 |#&{tRA—IL 1 22,180
3 4980 |Frvy—3k (K-S) 1= 83,160
4 FHOO [FvvoKR{K 1 34,650
5 4JCJ | FryoEM 148 24,260 37148
6 70KS |SE!FvT 1 12,480
7 FS00 |giR&O—)L 1 15,250
8 F020 |#%&ERXoyO0—)L—= 13 34,650
9 FOS3 |#&AyHO—)L 1 14,560
10 | FOS1 |[RHYO—ILZ 1 10,400
11 FOS2 |R4&O—)LA/N— 1 6,240
12 | FOSS |R&O—)LM 148 5,550 347148
13 | F0S4 [)—=7RILE (M5 % 15) 2 170
14 AR IMRL (M5 x 15) 4 150
15 | WG05 |[[FHafEs (5) 4 150
16 Fvbk (M5) 6 150
17 | WM64 |iEfEY (6% 14) 3 150
18 | F008 |[7ZUxRRYLY 1 1,740
19 | wEtl6 [uFwhk (M6) 1 150
20 | F030 |[7ZO¥RARILT TR 1 150
21 | W069 [REIUIARILE (M6 % 55) 1 150
22 FNATUTERILE (M7 % 54) 6 150




BHErH 2023/10/20

3. FES-E—F&

N8OA-N8OAIL GX




N8OA-N8S8OAII GX BE#HHE 2023/10/20
3. ¥ & -E—FHD
HE(HBmES A WE | 1ZXEE HmE
1 FO04 |{E1E& (U'L-) 10D AbyN {5t 1 41,580 NSOA (I ) F : 44 #R T
1 F304 |{F1E& (8) 1 | neoamexm|  {HEGRT
2 | FO10S |Z/\1T(A) WS AR T | 13,860 IH:FO10 4842 T
3 FO11 [S2/847(B) 1 10,400 AR T
5 FO13 [iEW/\UERIL 1 6,930
6 | WM53 |iBftE> (5 % 35) 1 150
7 G044 |FzvFx/N\IILTtvk 1 4,160
8 W665 |/NEIUTELEHRL (EAY%EMEx15) [ 1 150
9 FO32 [4F54#F (52) 2 290
10 | zD13 |{FEAHK—-A1207 120mm7R 1 530
11 F033 |Fa—TIft (110) 1 180
12 | 7J50 |/R—R/\UK (10mm) 5 210
13 | G861 |10 RAbkw/N 1 360 R—IL/YTF
14 | FO61T |S80A HKAE—%4 (600W 100V) 1 103,950 [H:FO61 R8T
15 | FM16 |h—"RIRILA 2 2,550
16 | FM10 |h—KR2 TS5 148 2,550
17 | FM17 |h—RoFvvT 2 1,160
18 | F80P |AAIKRLT Y 34U 24E 5t 1 17,330 |H:FO21 ##8#8 T
19 [ 1035 |31k 2 290
20 | zD12 [R AK—A5505k 550mm7 1 1,050
21 ZD11 |t HK—R7005R 700mmF 1 1,050
22 | w684 [RATUTZIEHAL (EMYHEM8X14) | 1 150 S VAD
23 | wos1 [RATUTERILE (M5 % 16) 1 150
24 | 75863 [0V 4 (S-63) 1 360
25 | WG08 [IEhkES (8) 2 150
26 | w083 [RAyUTERILE (M8 x 25) 2 150
27 | 1013 |E—4ETEH 1 210
28 | w787 [RATUTZIEHARL KIXHFHEM8 X 22) | 1 150
29 Fvbk (M8) 1 150
30 1076 |[HvRAZEY 1 420
31 1096 |Y)—<RILFIEHED 1 290
32 | FO81 |&E2Hh5— 1 - e T
33 | F072 |EYIEHRILEEHAT— 1 150
34 ayE L (5% 40) 1 150




NS8OA-NSOAII GX BEEH A 2023/10/20
4. HvyBZ-1)—<Hb




N8OA-N8S8OAII GX BEHHE 2023/10/20
4. 1y B-1—<HR

HE(HBRES & WE | 1B W E

1 | OFCU1S [Ava—= 1= 34,650 X2~13

2 8071 |HvHIL—L 1 17,330

3 FO12 |Av3/\UR)L 1 3,240

4 F024 |[HvBHAF 1 8,780

5 | 135076 |3 H 1 | #VALUE! & miky

6 2471 |AvBEY (58) 1 360

7 | WN12 [BIEY (#2.3%15) 3 150

8 3463 |hwHIa 1 420

9 1302 |[RSARRTYLY (51102) 1 1,120

10 | F025 |AvAEAERL 1 5,550

11 | wLes [RTYH5EY (6 % 28) 1 150

12 | 5079 |hyBEU(R) 2 360

13 5074 |hyaO0—35 2 700
4 15162 ¢
15 | 8074 |HvAaF F—(10x8x50) | 148 6,670

16 A7V EY (3% 15)

17 | 8075 [ik&HV) Y 1 700

18 | wL37 [RTYLHEY (3 % 25) 1 150

19 | 5075 |A—53F NEEE R 2 5,780

20

21 | OFRM3S [1J—<—= 15| 28880

22 | F119 [)—<7RILS 1 12,140

23 | 1092 [U—<#h 1 2,780

24 | 1094 [)—<iRY 1 2,780

25 | wrLat |[RTYHEY (4% 10) 1 150

26 | 8093 [)—=<X PN23 T T8 1 13,860 ST

27 | wLee [RTYLHEL (8 % 35) 1 150

28 | wL57 |[RTVHTEY (5 x 35) 1 150

29 | 5096 |U—<HRILA (S (8% 10) 1 150

30 | WQO08 |fmxk (8) 1 150




N8OA-

N8OAIL GX

5. E—4EEH

CE=

2023/10/20

HE(HRES Mm% WE | BRI W E
1 FM25 [/ os 1 15,020
2 FM16 |h—7RRILA 2 2,550
3 FM10 |h—R> TS5 (241%8) 148 2,550
4 FM17 |h—RoFyyT 2 1,160
5 FMO5 |RT—%(100V) ()-ME&E-811) 1 - HEGIRT
6 FM15 |RAbyTTL—k 2 - AR T
7 HEARINRL (M5 X 75) 2 150
8 FM27 |27 Hh/N— 1 - {Hiase T
9 FMO1 [7Z=Fa7 (100V) 1 - (a8 T
10 | S701 [R7YL45 (620022) 2 640
11 | FM43 |TA4REVEE—R 1 700
12 1202 [R7PYLY5 (620122) 5 950
13 | FM28 |A>F—H/\— 1 9,600
14 | FM26 |F¥vHh/\— 1 9,600
15 | FM24 |24—ARE=#> (DEHE=#> E—RREVKRI) 1 8,670
16 | NM23 [H—K¥ (DE¥Y) 1 6,300
17 | FM46 |HHF— 1 210
18 | IM30 [R7UyL5 (630422) 1 2,030
19 | FM22 |H—FEZ#A>-¥¥tyk (CEt-AVIZ¥YEA) [ 148 10,170
20 | FM20 |tHVRE—F -F¥tyk (BEE-AVIZXYEA) | 148 11,210
21 | WG05 |IFhFES (5) 10 150
22 | W255 [/l (M5 x 25) 6 150
23 | W25B [%HG~_/NhRl (M5 % 65) 2 150
24 TEE (5) 2 150
25 | FM47 |R7Yrgovy 2 150
FM14 |J—KJA¥tvhk (F.BERIX) 148 1,050 | KT




